50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Xx+y+z=9 ,

Find the Eigen values and the Correspondmg Elgen Vectors for the matrix

Test for Consigfegcy and solve 5x +3 ;!-“72 =5, 3x+ 26y+ 2z=9

o
s

Solve —3—}2’ +y = fanx , by the method of Varlatlon of parameters.
. = %

Solve y" - 4y’ "+ 13y = Cos 2x.4

Solve 6y” + 17y’ + 12y—

Solve y" - 5y’ + 6y = €7 "“by@the method of Undetermined coefficients.
\

Module-3

Find L[Cos t Cds\%’ Cos 3t].
Find L[’ Sin ai]. )
IEf) = , 0<t<2and t+2) = R1) for t>2, find L[D].

1 of2
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(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

, Ix+2y+10z=5.

(06 Marks)

(07 Marks)
(07 Marks)

(06 Marks)

(07 Marks)
(07 Marks)
(06 Marks)

(07 Marks)
(07 Marks)
(06 Marks)
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OR
0<t<4 o ;
Express f(t) = {; ’ t<> g in terms of Heavigld%**un »step function and hence find
L[f(t)]. (07 Marks)
Find the L [J’ (det} (07 Marks)
t
0
Find L[ t"], where n is a positive integ (06 Marks)
3 2
Find L™ [S e 3 L 8} : (07 Marks)
S
(07 Marks)

Find L [_________.,__} :
s(s+1)(s+2)(s+3)

Solve Ly +k*y =0 ygiven that y(0) =2 , y’(Oﬁév;ﬁ—‘ 0. by using Laplace Transform.
dx’ - P

(06 Marks)
A s’ +4 :
Find L7 | Log| ————— | |- (07 Marks)
s(s+4)s—-4) )] (¥
(07 Marks)
Find L"'| ———— | by using Convolutio orem. 4 (06 Marks)
[S(Sz + az)} i T Liﬁ“ﬁm ‘o
CMRE e 560087
Module-5
.. e 1
If A and B are events with P(A.w B S - Find P(A) ,
P(B) and P(A N B). (% (07 Marks)
A problem is given to four students A, B, C, D whose chances of solving it are 1/2 , 1/3,
1/4 1/5 respectively. Find.the probability thatthe problem is solved. (07 Marks)

: " The probability of.conducting an exanjingiﬁon on time is 95%. If there is no delay in
~ admissions and 60 f there is a delay. If the probability that there will be a delay in
“ admission is 20%;.find the probability of holding the examination on time. (06 Marks)

Find the probability that a Leap year selected at random will contain 53 Sundays. (07 Marks)
A student ‘A’ can solve 75% of the problems given in the book and a student ‘B’ can solve
70%. What is the probability that A or B can solve a problem chose at random. (07 Marks)
A box contains 500 IC ¢hips of which 100 are manufactured by Company X and the rest by
Company Y. It is estimated that 10% of the chips made by Company X and 5% made by

,,,,,

Company Y are'defective. If a randomly selected chip is found to be defective, find the

probability tha?tlt came from Company X. (06 Marks)

ok ok kX

20f2




